Maytag MFR60PNCTS 08 - BASKET & OUTER SHELL ASSEMBLY

05-May-05
Maytag Commercial Maytag MFR60PNCTS Washer Parts Parts Diagram 08 - BASKET & OUTER SHELL
ASSEMBLY
Click on the part number to view part
Item Original Part Number Replaced By Status Part Description
001 23004051 Inner Tub
002 23004052 Outer Tub Complete
003 23004053 Front Tub Panel Complete
004 23004054 Frt Tub Clamp Ring
005 23002486 Bolt
006 23001608 Washer Lu
007 23002487 23001266 Nut M8
012 23004248 Gasket
023 23003807 Temperature, Sensor Holder
024 23002179 Washer Nut M14
033 23003831 Temperature Sensor
034 23004249 Ring

035 23004114 Bolt M6 X 16


http://www.pwslaundry.com/c-299696-commercial-maytag-mfr60pncts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799479-maytag-23004051-washer-inner-tub.html
http://www.pwslaundry.com/i-7799480-maytag-23004052-washer-outer-tub-complete.html
http://www.pwslaundry.com/i-7799481-maytag-23004053-washer-front-tub-panel-complete.html
http://www.pwslaundry.com/i-7799482-maytag-23004054-washer-frt-tub-clamp-ring.html
http://www.pwslaundry.com/i-7798481-maytag-23002486-washer-bolt.html
http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7798482-maytag-23002487-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7799668-maytag-23004248-washer-gasket.html
http://www.pwslaundry.com/i-7799266-maytag-23003807-washer-temperature-sensor-holder.html
http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7799285-maytag-23003831-washer-temperature-sensor.html
http://www.pwslaundry.com/i-7799669-maytag-23004249-washer-ring.html
http://www.pwslaundry.com/i-7799538-maytag-23004114-washer-bolt-m6-x-16.html

	Maytag MFR60PNCTS 08 - BASKET & OUTER SHELL ASSEMBLY

